00000 MOO000ooooooono 1991/6/5

ouuuobobooad

9.1 00. M, MOOOOnOODOOOOOf: M — MO C*O000000
rank(df,) =n 000 MOO 20 fO00000000Orank(df,) <nO000 MOO =z
O f0000000DOfODOO0OO fO0DOOO fOOO0DODOOODOfOODOOOOO
MO0O0 fO0O00O0O0Og

9.200. M,M'0000000000n0000000000O0000O00Of:M —
MO C*0000000f0000xeMOO00O0

1 da, 000000000000

sign(df,) =
gn(dfz) {—1 df,000000000ooooon

000Osign(df,) 0000000000 f0000 yeM'0000 f~Y(y)O MODO

guoooooood
Z sign(df;)
zef~1(y)

yboogooobogon

00. 00000 [0]0VO0§6000000 [M]§5 Oriented manifolds 0 0 0 O
00

9300. M,M'0000000000n0000000000O00O0OOf:M —
MO C*000000000000f0000 yeM'ODODO

deg(f)= > sign(df.)
z€f~1(y)
000Odeg(f) 0 f00O0000O0O
94 00. UO0OO0O0O0OO LeelOO GOOOOOOOTO 10000000
DDG,T,G/TDDDDDDDDDDDDDDD
q:(G/T)xT—>G;(gT,t)»—>gtg_1

00000 GO WeylO W(G)ODOOODODODDOOODO ¢g0OOODODOO

O0.¢g0t0000O0 GO TO LieDOOODOGOODOOOOODOODO 8100
GOOODOOAd:G — GL(OD0000000000 ¢g000 (,) 000000
GU0000007T7TO000D000DOt0TO00O0O0ODODDODO0OODOOODDOOOtO
o000l mdd00mbODOO0 700bbo0ooobbboooobbbooobn
goodoo

a:g—T.(G); X — X,

0000 g0 T(G)DODDODOODODOOOO
m:G— G/T;g+— gT

1



2

000000000000 dr.:g— Tre)(G/T)0D00tO0000OO
drelm :m — T (G/T)

00000000000X:,...,X,x0 mO000000 Xp_pir,...,X,0 tO0
0000000 g000 X;,...,X,0000X,,...,X,0 GOOOOOODOOO
000000000000 000000000000GO0O000000000
Xn_p41,---,X,0 TOOOODO 70000000000 Xy,..., Xn_ k0 dre|m
0000 Tpe(G/T)D0O00000TO00000 TO Tre(G/T)DODOD

t(’U) = (dt)ﬂ'(e) (U) (t €T,ve Tﬂ'(e) (G/T))

0 Tn((G/T)00000000000000000000 G/T000000000
00000000 G/I00000o0oon
00 g €G, tieTU gy =gth00000 gitg;t = gttty =gtg 000
00
q: (G/T) x T — G; (gT,t) — gtg™"

0000000000000000
GxT — G;(g,t) — gtg™"

OCc*00bfobg ¢ c>*ob0onoonn
OO0 q¢0O00000000b0bbb0 O0oboboboooboddgeGnonO

7(9) : G/T — G/T;2T — gxT

O0000O7(9)0 G/T0000000000000000geG,teTO Xem,Y €
toggn

dQ(gT,t) ((dT(g))ﬂ'(E) X: (st)eY)

d
= Eq((g exp sX)T,texpsY)

s=0

d
= —.gexp sXtexpsY (gexpsX)™*
s

s=0

d
= d—gtg_lgt_l exp sXtexpsY exp(—sX)g "
s

s=0

d
=(dLgtg™'). Ad(g) 75 &XP8 Ad(t™H) X exp sY exp(—sX)

s=0
=(dLg(grn)e Ad(9)(Ad(t™!) — In )X +Y).

000000
dq(gr,)((d7(9))n(e) X (ALt)e) = (dLqg(gr))e Ad(9)(AA(E ) — T )+ 10 ).

O0000(gT,t)0 ¢00000000000000000Ad(t N —In Om
00000000 0O0DOoooon



3

008600 {tieN}OTO0DDODOOO0ODOOD ¢+, €e7TO000O0D0ODO #0
D00 ¢DO0D0000D000t €¢TO =¢'0000000000{t)ieN}O T
00000000(gT,t) €q (1) 00000gtg ' =6,00000 g ttyg=teTO
0000000:ieNOOODO g ig=teTOOO g 'TgCcTOg 'Tg0 GOO
D000DD000000 ¢ ' Tg=TO00000¢geN(T)DDODOO

g *(t1) = {(gT, g 't1g)|g € N(T)}.

000 ¢ '(+) 000000 GO WeylOODOODOODOODOO (g7, 9 'tig) €
¢ '(t1) 000 DOsign(dg) =10000000000X € mO (Ad(g~ ;" 9)|m
I, )(X)=000000D000#00000000 teTOOODOAd()X =X0O0
D0XO0TOODO0OO0O00 Le000D00D000000000 81000 X €t00
OD0tm={0}000 X =00000000Ad(g ", g)|lm —lw OmOO00000
D0000Ad(g pg)|lw O mOO0O00000Ad(g " 29)|lm = Ad(g7 7 9)|m
D000 100000000000000Ad(g" % g)|le 000000

cosf; —sin6,
sinf; cosb;

cosf, —sinby
sinf, cosf

bbb mdooobbooooooon

cost)j —1 —sinb; :2(1—c039j)>0

det sin 0 cost; — 1

O000Ad(g 7 g)lm —Iw D0D000000000000sign(dg)gr.g-14,9) =
10000

deg(q) = [W(G)]
00000000 ¢0000000

9500. GOOOOOOOO Le00O0DOTO 7D GOOOOODODODODODOO
O0007TO T"O0000000

go. b 8600 {t’i]iEN}D T’000000ooo000dYeT0oooOOO
D000 9400 ge GO teTO

t' =q(gT,t) = gtg™*

0000000000000000g YWg=teTOOO ¢g~'T'gCcTOg 'T'g0 G
000000000000 ¢ 'T¢=7000000 70 7’0000000

9.6 0. 0DD0 95000000000 Liehb GOOOOODODOOOODODO
00GUO000000000 GDO000000rank(G)0D0O0OO



4

9.70. GUOUOLODOODODO Lee0 DO TO GLUODOODOODOOOGO TO Lie
gbbbug gt tboboogd

G=|JgTg™", a=J Adgt

geG geqG

gboodao
gb. 0obo9s5000 ¢guobbouggn

G=JgTg!

gelG

000000000000000000 XegO 10000 {exp(tX)|t € R} OO
00 S00000S000000000 GO0 Le0000000S000 GOOO
D000 770000000 950000 g€ GOOOO T’ =¢Tg"' 000000
000 X € Ad(g)t0000

g=[J Ad(g)t

geG
ooooon

98 0. GUOOOOODOO Lee0OOOTO T'D GOOODODODODOOODOOOO
000700000 GO WeylDOO T'"ODODDO0O0 GO WeylODODDDOODOOO

00.009500¢9 € GOOOOT = 4¢Tg 000000000 N(T') =
gN(T)g~'O0DO0O N(T)/T = (gN(T)g V) /(gTg~t) = N(T")/T'"0D0D00D000O0
0D7T00000 GO WeylOO 700000 GO WeylDDDDODODODODO

9.90. 00000000 Lie0O0 Z0 GOOOOOOO0OO0OO0OOO
Z=n{T|T:GO0000000}

oboobo

O0. eZ0O0O0O GOO0OOOODODOOOTOOOOODOR88OO 07000
0000000 700000000 T=T'000 zeTODOOO

00 zen{T|T:GOOOOODODO }000000D0 geGOOOOOY70O0
gU00 GUOO0OO0OD0OO0TOODOOOO0O0O0O0OO z0¢000000020 GO
obooboon

9.1000. GOO0ODDOOD LeeDOOTO GOOOOODDOODOODO 810
D0000000000000 GO WeylD W(G)O TOOOODDOAut(7) 000
D0D00000W(G)D TO0D0D00 W(G)DO Che(T)DDOODODOODOW(G)
O000000 Che(T)DDOOODO Che(MW @D ODOOOMO

Re(T)W 9 = XY (Che(T)W(D)

goog



5

9.11 0. GOO0O0000O00 LeDOOTO GOOO0O0D0O0O000O00000O
T — GOO00000000000000000 2.1800*Re(G) — Re(T)W (@)
0000000

aggd. Ood
Rc(G) —— Rc(T)

% P
Che(G) —“— Che(T)

D00000003700x00000000000000¢*: Che(G) — Che(T)
0000D00000000000f € Che(G)Of =00000000000
0Dz e GOOODODODO 970000 ¢g€ GOODODO gzg™' € TOO0O0O0DODO0O
fx) = flgrg~)=0000 f=000000¢" : Che(G) — Che(T) DO ODOO
O0000.,000 GOOOOOO0 700000000W(G)000000000
*(Che(G)) € Che(MW @D ODOOOO

9.1200. O0OODOOO RiemennODUOOOOOOODOODOODOODOODOODODOO
goboobodo

00. MOOOOOOO Riemann 000 000p: M — MOOOOOO0O0O000O0O
p0000000000 pO000000000000MO Riemann 000000
00000000000MOO000000 Riemann 00000002z MOOOO
0000m(M,2)00 [0 10000000 ¢:[0,1] — MO ¢(0) = ¢(1) =z O
000 MOOOOOOOOZep (2)000 ¢c000000006000000 8.3
00#0&1)000000,000000MO0000000 poé=cO poy0000
0000000000000 poyd MOOOOOOOOOO[DO0O0000O0O0
0 poA000O0O0O0DO0OO

9.13 0. GOO00000O00 LeDOOTO GOOOO0O0O0O0O00O0O00000
T — GOO000000000000000¢:m(T) —m(@)0000000

00.008100 GOOOOD RiemannJ00000000000000000
08200 GO0 10000000000000000000000000O00000
09.12000000m(G,e)000000000 GO01000000000000
000000097000007T01000000000000GO0000000O0
000000000000000000m(G,e)000000000 7010000
0000000000000000w:m(T) —m(G)0000000



